GENERAL SCIENCE QUESTIONS/ SAMPLE PAPER -16

1. The gravitational potential energy of an object at a point above the ground is defined as the work
donein

ST & IR Teh foig W Rl a&g H Tocdry ufdst Foft H forw amv
FRf & ¥ # IRART fFar Jrar g

(a) Lifting it at that point from the ground opposite to gravity / 3’@[‘ WQ'UT & AT ST &
39 fdg W 3o

(b) Applying the force of gravity on it /39 WX d;l,bcdlchhclul sl efld] Sl

(c) to keep it at the center / 8 g 9T TW&T

(d) placing it on the ground opposite to gravity / S@' U;RF:I'IEFQ'UT F AT T W @

2. Regardless of the force exerted on an object, the work done will be zero if its displacement is
Teh g TR ol STl & STarelg, T FohaT I1aT shidf Q[ B19T Afe; ST TaeUuTdeT 2l
(a) Negative / FHUIcHD

(b) Positive / &TTcHS

(c) Effortless / 3&T&eT

(d) Zero /[T

3. Falling coconut consists of:

e gu R # g &

(a) nuclear energy /ATfASIT ol
(b) sound energy / €afal FaiT

(c) kinetic energy / JTfasT Fair

(d) Chemical energy / AT Fatl

4. 10 kg ms changes in momentum of an object in 0.02 seconds, then the force acting on the object
is:

foell a&g & Haer # 0.02 ¥hs H 10 kg ms IRATA gIaT & dF g R PR Y @ o
&

(a) 200 N

(b) 550 N

(c) 500 N
(d) 100 N

5. After a shell explodes, many pieces fly off in different directions. What is preserved in this
situation?

T Al & [AEHIC & dlg, F$ gohs IeET-3e9T Q3 # 33 o ¢ 56 &ufa & &=
TfeTT & &2

(a) potential energy / FEAfasT Fatr

(b) force /el

(c) work /T

(d) momentum / HAdT
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6. If the velocity of an object is proportional to the time elapsed, then the object's / is / will be

frdlY a&q T 397 ST §U TAT F FAGGAI Gl & A aFg F/ H ___ gEm/EER
(a) uneven acceleration / 3T HHATT TaOT

(b) uniform acceleration / UhHHATT a0

(c) uniform speed / TehTHATA dTT

(d) Unequal speed / 31THATT dTel

7. When a stone was thrown directly upwards —

9 Y FW A 3 FAT T T T2l MY |} -

(a) When the velocity and acceleration reaches zero, then its: /AT T aXoT RI=T Bl %’ L-Ig;:f-k-ll
g, T

(b) The velocity is zero and the acceleration is about 10 m /'s. /adT R gl & T calor
ST 10 FHey/Aehs gl &

(c) The velocity is about 10 m / s and the acceleration is zero /39T SRIT 10 Hey/Ahs ?HT %’
YT TaOT T BT &

(d) The velocity is about 10 m / s and the acceleration remains the same. / 93T 1978737 10
HY[F3 gl § dUT caROT HATH FT @l ¢

8. Wavelength usually goes to the Greek letter

T FFETS IMAAN W fF AN ST &
(a) Gamma / 9TAT

(b) Lambda / ofFaT

(c) Beta / &leT

(d) Alpha / 3TehT

9. Which of the following statements is correct about sound waves and light waves?

farafaf@a & @ Hia a1 Fua eafa et 3R gFmer a@@n & TR 7 F@@r g2

(a) Both are transverse waves. / Glail A EA e gl

(b) Both are longitudinal waves. / &t 31?:?(?2& aGr gl

(c) Sound waves are transverse and light waves are longitudinal. / egfer a3er 3-1?-!3'9?94' @?ﬂ' % 3R
ThI TN 3CED gl &

(d) Sound waves are longitudinal and light waves are transverse. / egfel a3er 3-1@?(?15' E’I?ﬁ' %\ 3R
SIhTRI TRAT 3IEY glell & |

10. Compression and bleaching occur due to variation of the following-

fArafaf@a f Fear & FRoT Fdsd 3R AT 3caw g §-
(a) Refraction of the beam / fR0T &T 3MaadeT (Rparera)
(b) temperature difference / dTIHTA H 3R
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(c) air pressure / gdT &l G&ld
(d) magnetic difference /ﬂaﬁ'zr ki ry

11. When light enters a dense medium through a sparse medium —
ST eh1eT faRel ATETH & ToeT ATETH F Jaraiarg ar—

(a) Its speed decreases first then increases / sﬂ@r?ﬁqﬁwaﬁ%ﬁ?{m%
(b) its speed increases /%ﬁﬂ%aa?ﬁ%

(c) its speed decreases /ﬁﬁ?ﬁwg’rm%

(d) its speed remains the same / %ﬁﬂﬁg\éﬁﬁﬁ?ﬂ'%

12. What is the process of separating hydrogen from water called?

it I ETS3ToTeT T 3TcldT et ST TTohdT ol T el ST &2
(a) electrical breakdown /ﬁa}gﬁﬁ'ﬂﬁﬁ

(b) Osmosis / 3T T_G

(c) ozonation / 3TSlleiIehOT

(d) oxidation / 3itareireoT

13. Which rule states the relationship between the potential differential current flow in a conductor?
PieT AT fATH T ATeieh (Fse’) H THTAT 3R TdATT YaTg & e Haeil T 11 872

(a) Faraday's law / TS &1 e

(b) Newton's law / Fq\EHHWﬁ'HF

(c) Joule's Iaw/GI‘\TvTEFrﬁTIF

(d) Ohm's law / 31137 &T foiTreT

14. Which one of the following is not a stirring material?

frafafad § @ 7 a1 ve seeaurds gerd A &2
(a) sodium sulfate / G Tethe

(b) camphor/EFf-‘I‘\T

(c) Ammonium chloride / 3T TATH FARSS

(d) Naphthalene / sToFTeile

15. In 1902, who invented and used electric air conditioning on a large scale for the first time?

HeT 1902 H gl IR 3 YA W fAT I T Hrerfaiar &1 3nfasenrt 3R gweht vl fordreh @ famar
IGT AT?

(a) Willis Carrier / Afor R

(b) John Gorey/Gﬁ’FfTﬂﬁ

(c) Stuart Camer /Ro}l'é'm

(d) H.H. Shulj / T=L.T=T. st

16. Atomic size when going from sodium to chlorine
QfSTH A FeAlT I 3R STl IR IRAT TR

(a) Increases / dedrg

(b) Decreases / eaT &

(c) first increases and then decreases /Wm%ﬂ‘hﬁﬂuﬂ%
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(d) remains the same / THTT EdT &

17. Choose different or incompatible from the following.
fAFfafad & & et a1 39T Ioi-

(a) Aquamarine / 3TFaTE{IT

(b) Topaz /&HdTeT

(c) Ruby / HTTOIR

(d) Gold / QYT

18. Zinc copper can separate copper from sulfate solution, because zinc -FSie SR Tothe e e ¥ HIroR 1
(a) is less reactive than copper. / Wﬁwﬁmm%mm%l

(b) is more oxidized than copper. /ﬁwﬁwﬁmmm%l

(c) is more reactive than copper. /ﬁw@tgmﬁmafﬁﬁ?mham%l

(d) is less oxidized than copper. /Wﬁ@mﬁﬁmlﬁmﬁl

19. On adding zinc to copper sulphate solution:

HIR Fethe & Ao 7 i fHea o

(a) Water is formed / qTetT ST AT 8T &

(b) Zinc sulphate is formed / foi gethe It

(c) Zinc oxide is formed /mﬁmwﬁmﬁwm%
(d) There is no reaction /aﬁémﬂﬁfiﬂ?ﬁ%

20. What is the amount of heat produced by the complete combustion of a unit mass of fuel?
ST & Ueh SIS GedHIeT o YUT Gl W 3clos] SSHT shl HATHT &bl T &gl Il 672

(a) Thermal (calorie) value of fuel /%‘Hﬂ'ﬂﬁ?ﬂzﬁ'& (SFIY) AT

(b) Volatility of fuel / 4T &Y arsqefreldT &78dT

(c) Ignition temperature of fuel /gﬂﬂ'ﬂwm

(d) Thermal efficiency of fuel / S¢IeT I FSHIT &THAT

21. Unsaturated carbon compounds burn in oxygen by providing flame with excessive black smoke —
3T el TR HeaTereh el (T & TTY STl SIeTeT il §U 3iTerotet & STeicl §

(a) Yellow / drelr

(b) Red / oTel

(c) Brown / &S

(d) Blue / =Tl

22. Who invented the fountain pen?
HT3eCaT UeT &1 TTAShIR Tohdet TohdT UT?
(a) Birds Ice /EI'L%QTSTIBF

(b) Lewis E. Waterman / Jfa®  dietdst
(c) Dr. Lee D. Forest /3. A A BRES

(d) Augsburg / 3TTTeeT

23. What is the study of animals' relationship with their environment called?
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SATAGRT o 3ok TATAIOT & [T T b TETTA ! T gl STl 82
(a) Ethology / 3’2ﬂ3r\f3ff

(b) Entomology / TeeTATelTSIr

(c) CIimatoIogy/&TvﬂBﬂE’lﬁGﬁ'

(d) Ecology /Wﬂﬁﬁ

24. Why can't fish survive in distilled water?

3T 57T (distilled water) H Heoll /T ST 6T 7§ Hehcll 82

(a) Can not breathe in it / 3T T1E 78T of ehall

(b) Osmosis dilutes fish body fluids / GRIAIOT (Osmosis) HS eIl o R & e uerl s yqer X ST g
(c) It does not contain oxygen /Wmﬂﬁm%

(d) It does not contain food / sﬂﬁmﬁﬂﬁm%

25. Which is a cyclic hydrocarbon with the molecule formula CsHg?
3T G CoHs, ATCT hI ETSSIehTelaT chiot-HT &2

(a) Cyclo pentane / TShI (TTSFAT) UeeT

(b) Naphthalene / sT%FTelleT

(c) Methane / #Hraa

(d) Benzene / Sailel



